

# governmentattic.org

"Rummaging in the government's attic"

Description of document:	Reports produced for Congress by the National Guard Bureau (NGB) which are not posted on the Bureau's public internet website, 2006-2009
Requested date:	07-November-2009
Released date:	15-May-2012
Posted date:	09-September-2013
Source of document:	National Guard Bureau Office of Information and Privacy (NGB/JA-OIP) 111 South George Mason Drive, AH2 Arlington VA 22204-1373 Fax (703) 607-3684 Email <u>ng.ncr.arng.mbx.ngb-foia@mail.mil</u>

The governmentattic.org web site ("the site") is noncommercial and free to the public. The site and materials made available on the site, such as this file, are for reference only. The governmentattic.org web site and its principals have made every effort to make this information as complete and as accurate as possible, however, there may be mistakes and omissions, both typographical and in content. The governmentattic.org web site and its principals shall have neither liability nor responsibility to any person or entity with respect to any loss or damage caused, or alleged to have been caused, directly or indirectly, by the information provided on the government agencies using proper legal channels. Each document is identified as to the source. Any concerns about the contents of the site should be directed to the agency originating the document in question. GovernmentAttic.org is not responsible for the contents of documents published on the website.

-- Web site design Copyright 2007 governmentattic.org --



### DEPARTMENT OF DEFENSE OFFICE OF FREEDOM OF INFORMATION 1155 DEFENSE PENTAGON WASHINGTON, DC 20301-1155

MAY 1 5 2012

Ref: 10-F-1011 J-10-0005

This responds to your Freedom of Information Act of November 7, 2009 (copy enclosed) to the National Guard Bureau (NGB). NGB forwarded responsive documents, totaling 48 pages, for direct response to you on May 10, 2010. The Office of the Secretary of Defense has completed its review and the enclosed documents are provided to you without excision. As this completes the processing of your request in this office, we are closing your case. There are no fees associated with this response in this instance.

Sincerely,

MICEN

Paul J. Jacobsmeyer Chief

Enclosures: As stated



RESERVE AFFAIRS

FEB 2 1 2006

The Honorable John W. Warner Chairman, Committee on Armed Services United States Senate Washington, DC 20510

Dear Mr. Chairman:

I have enclosed the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title III National Guard and Reserve Equipment Appropriation. The enclosed "FY 2006 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting provision contained in the appropriation "National Guard and Reserve Equipment" of the Department of Defense Appropriations Act, 2006 (Public Law 109-148).

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

TF Hat

T. F. Hall

Enclosures: As stated

cc: Honorable Carl Levin Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 2 of 238



RESERVE AFFAIRS

FEB 2 1 2006

The Honorable Ted Stevens Chairman, Subcommittee on Defense Committee on Appropriations United States Senate Washington, DC 20510

Dear Mr. Chairman:

I have enclosed the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title III National Guard and Reserve Equipment Appropriation. The enclosed "FY 2006 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting provision contained in the appropriation "National Guard and Reserve Equipment" of the Department of Defense Appropriations Act, 2006 (Public Law 109-148).

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable Daniel K. Inouye Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 3 of 238



RESERVE AFFAIRS

FEB 2 1 2005

The Honorable C. W. Bill Young Chairman, Subcommittee on Defense Committee on Appropriations U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

I have enclosed the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title III National Guard and Reserve Equipment Appropriation. The enclosed "FY 2006 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting provision contained in the appropriation "National Guard and Reserve Equipment" of the Department of Defense Appropriations Act, 2006 (Public Law 109-148).

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable John P. Murtha Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 4 of 238



RESERVE AFFAIRS

FEB 2 1 2006

The Honorable Duncan Hunter Chairman, Committee on Armed Services U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

I have enclosed the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title III National Guard and Reserve Equipment Appropriation. The enclosed "FY 2006 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting provision contained in the appropriation "National Guard and Reserve Equipment" of the Department of Defense Appropriations Act, 2006 (Public Law 109-148).

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable Ike Skelton Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 5 of 238

# FY 2006 SUMMARY TITLE III NGREA ACQUISITION REPORT NATIONAL GUARD AND RESERVE EQUIPMENT PLAN ( 0.347% reduction included IAW Section 8125 P.L. 109-148)

i

i

ARMY NATIONAL GUARD (\$30,000,000)	Quantity	Cost
Training  * DFIRST-FLEXTRAIN	1	\$4.050.000
BCT COFT XXI	8	\$4,950,000 \$1,760,000
M2 COFT XXI	3	\$810,000
FATS IV - M4 ENGAGEMENT SKILLS TRAINER	338	\$2,061,800
FATS IV - M240 ENGAGEMENT SKILLS TRAINER	4	\$88,400
FATS IV - M249 ENGAGEMENT SKILLS TRAINER	4	\$44,400
FATS IV - M2 ENGAGEMENT SKILLS TRAINER	4	\$74,600
FATS IV - M19 ENGAGEMENT SKILLS TRAINER	4	\$160,800
* LASER MARKSMANSHIP TRAINING SYSTEM	45	\$1,350,000
FATS IV DICITIZATION	40	\$2,000,000
Soldier Equipping & Mobility		
HMMWV (SHELTER - M1097/M1152)	40	\$3,940,000
INDIVIDUAL CHEMICAL AGENT MONITOR	60	\$360,000
* M4 CARBINE	1,728	\$1,814,400
Aviation Mobility & Special Equipment		
HOIST HIGH PERFORMANCE	59	\$5,900,000
UH-60 BLACKHAWK REMOVE AND REPLACE TASK TRAINER	1	\$2,583,000
CH-47 MAINTENANCE TRAINER	1	\$1,700,000
Pro Rata Share of Reduction Under P.L. 109-148, Sec 8125		(\$103.000)
1% Across the board cut		(\$?99,000)
TOTAL ARNG TITLE III NGREA		\$29,597,400
ARMY RESERVE (\$30,000,000)	Quantity	Cost
* FAMILY OF MEDIUM TACTICAL VEHICLES	18	\$2,258,676
BASE BAND NODE	3	\$10,697,000
MULTI-BAND SUPER HIGH FREQUENCY TERMINAL	4	\$8,800,000
* M4 CARBINE RIFLE 5.56MM	65	\$67,643
GENERATOR POWER UNIT 15KW	7	\$166,677
TACTICAL AIRSPACE INFORMATION SYSTEM	1	\$2,350,000
COUNTER INTEL/HUMAN INTEL MANAGEMENT SYSTEM - CHIMS	2	\$132,694
COUNTER INTEL/HUMAN INTEL AUTOMATED TOOL SET	2	\$100,000
INDIVIDUAL TACTICAL REPORTING TOOL- AN/PYQ-8(v)	10	\$24,310
AIR TRAFFIC NAVIGATION, INTEGRATION COORDINATION SYSTEM	1	\$5,000,000
Pro Rata Share of Reduction Under P.L. 109-148, Sec 8125		(\$104.000)
1% Across the board cut TOTAL USAR TITLE III NGREA		(8299.000) <b>\$29,597,000</b>
		<i>Q_2, je, i je e d</i>
NAVY RESERVE (\$30,000,000)	<b>Quantity</b>	<u>Cost</u>
Naval Coastal Warfare	,	
* FORKLIFT 20K RT	6	\$750,000
15 TON CARGO TRUCKS	4	\$488,000
LSSV PICK UPS	10	\$420,000
30 KW GENERATORS	3 65	\$108,000 \$1,593,000
PRS-150 RADIOS IBU CRAFT	4	\$2,000,000
6 KW FLOOD LIGHTS	5	\$53,000
EOD	5	455,000
RHIB CRAFT	1	\$94,000
Naval Construction Forces		
* NAVAL CONSTRUCTION FORCE TACTICAL VEHICLES	130	\$9,750,000
URG HEATERS	25	\$550,000
SCALABLE SKID STEER LOADERS * - denotes items of special interest outlined in HR 109-359, Title III - Procurement	32	\$1,312,000

FOIA Requested Record #J-10-0005 National Guard Bureau Page 6 of 238

#### FY 2006 SUMMARY TITLE III NGREA ACQUISITION REPORT NATIONAL GUARD AND RESERVE EQUIPMENT PLAN ( 0.347% reduction included IAW Section 8125 P.L. 109-148)

ŝ

Navy Expeditionary Logistics Support Group		
SMALL ARMS SIMULATOR	1	\$550,000
* KALMAR ROUGH TERRAIN CARGO HANDLER SIMULATOR	9	\$432,000
* HMMWV	10	\$750,000
KALMAR ROUGH TERRAIN CARGO HANDLER	1	\$590,000
Navy Reserve Flight Programs	-	00,000
ELECTRONIC PROPELLER CONTROL SYSTEM	2	\$1,157,000
MH-60S ARMED HELO KITS	2	\$9,000,000
Pro Rata Share of Reduction Under P.L. 109-148, Sec 8125	_	(\$104.000)
1% Across the board cut		(\$299.000)
TOTAL USNR TITLE III NGREA		\$29,597,000
MARINE CORPS RESERVE (\$30,000,000)	Quantity	<u>Cost</u>
INTEGRATED INTRA SQUAD RADIO	1037	\$2.592,500
GROUND LASER TARGET DESIGNATOR	28	\$2,856,000
IN-TRANSIT VISIBILITY MANAGEMENT PACKAGE	1	\$170,000
DEFENSE ADVANCED GPS RECEIVER	117	\$219,141
TACTICAL DATA NETWORK TRAINING SOLUTIONS PACKAGE	I	\$3,300,000
MARINE EXPEDITIONARY POWER DISTRIBUTION SYSTEM	l	\$1,000,000
6TH COMM BN PACKAGE	I	\$668,000
* COMBAT VEHICLE TRAINING SIMULATOR	2	\$3,980,000
COUNTERINTELLIGENCE HUMINT EQUIPMENT SUITE	4	\$160,000
ALTERNATE POWER SUPPLY (FORCE)	1	\$592,000
* CARBINE, M4	115	\$150,075
ALTERNATE POWER SUPPLY (DIVISION)	1	\$1,130,000
* VIRTUAL COMBAT CONVOY TRAINER	4	\$6,533,332
MARINE LOGISTICS COMMAND COMM PACKAGE	1	\$3,702,000
* MEDIUM TACTICAL VEHICLE REPLACEMENT - TRAINING SYSTEM	1	\$398,000
ENVIRONMENTAL CONTROL UNIT	12	\$1,104,000
AN/PRC-148 RADIO	139	\$1,042,500
Pro Rata Share of Reduction Under P.L. 109-148, Sec 8125		(\$103.000)
1% Across the board cut		(\$299.000)
TOTAL USMCR TITLE III NGREA		\$29,597,548
AIR NATIONAL GUARD ( \$30,000,000) Precision Strike	Quantity	<u>Cost</u>
* F-16/A-10 HELMET MOUNTED CUEING SYSTEM INTEGRATION		\$3,000,000
<ul> <li>F-16/A-10 TARGETING POD ENHANCEMENTS</li> </ul>		\$500,000
F-16 AVIONICS ENHANCEMENT	400	\$800,000
Data Link/Combat ID		\$000,000
	16	£4 750 000

A-10/KC-135 BLOS RADIOS 46 \$4,750,000 A-10/HH-60/HC-130 SITUATIONAL AWARENESS DATALINK 22 \$2,740,000 C-130/KC-135 COCKPIT DISPLAYS 374 \$1,907,000 **KC-135 ANTENNAS** 33 \$1,000,000 TACP TERMINAL ATTACK CONTROLLER KIT 1 \$500,000 Enhanced Survivability A-10/F-16 DEFENSIVE SYSTEMS UPGRADE \$2,050,000 A-10/HH-60/HC-130 SURVIVAL RADIOS 1 \$292,000 C-130 CHAFF/FLARE DISPENSER SWITCHES 30 \$495,000 20 \$2,500,000 HH-60/A-10 DISPLAYS \$1,260,000 **HH-60 GUNNER SEATS** 36 JSTARS TCAS SYSTEM 1 \$1,180,000 \$320,000 PJ/ST/CRO OXYGEN SYSTEM 16

\* - denotes items of special interest outlined in HR 109-359, Title III - Procurement

## FY 2006 SUMMARY TITLE III NGREA ACQUISITION REPORT NATIONAL GUARD AND RESERVE EQUIPMENT PLAN ( 0.347% reduction included IAW Section 8125 P.L. 109-148)

î

Propulsion Modernization		
F-15 220E ENGINE KIT	1	\$300,000
Simulation Systems		
* F-16 MISSION TRAINING SYSTEM	1	\$1,000,000
24-Hour Operations		
C-130/KC-135 AUTOMATED AIRCREW EQUIPMENT KITS	929	\$1,424,000
. Training		
C-130 VECTS	80	\$2,260,000
VULNERABILITY ASSESSMENT AGGRESSOR OPERATIONS		\$850,000
DIGITAL NETWORK TARGET RANGE		\$470,000
Pro Rata Share of Reduction Under P.L. 109-148, Sec 8125		(\$103,000)
1% Across the board cut		(\$299.000)
TOTAL ANG TITLE III NGREA		\$29,598,000
<u>AIR FORCE RESERVE (\$30,000,000)</u>	Quantity	Cost
A-10 MULTI-FUNCTION COLOR DISPLAY	34	\$3,210,000
* JOINT HELMET MOUNTED CUEING SYSTEM		\$1,300,000
* A-10 LITENING PODS	6	\$9,688,000
C-130 APN-241 RADAR		\$4,750,000
END TO END TESTER FOR AAR-47 MISSILE DETECTION SYSTEM	22	\$1,000,000
B-52 MULTI-FUNCTION COLOR DISPLAY	9	\$1,500,000
* PJ NIGHT VISION GOGGLES	2	\$2,100,000
HH-60 MFCD	15	\$3,000,000
C-130 YOKE MOUNTED CHAFFE/FLARE DISPENSER SWITCH	85	\$1,800,000
* NIGHT VISION DEVICES/LASER SIGHTS		\$330,000
SADL/EPLRS	23	\$919,000
Pro Rata Share of Reduction Under P.L. 109-148, Sec 8125		(101000)
1% Across the board cut		(299,000)
TOTAL AFRC TITLE III NGREA		\$29,597,000
NGREA EQUIPMENT PLAN SUMMARY		
Component		<u>Total</u>
Army National Guard		\$29,597,400
U.S. Army Reserve		\$29,597,000
U.S. Naval Reserve		\$29,597,000
U.S. Marine Corps Reserve		\$29,597,548
Air National Guard		\$29,598,000
U.S. Air Force Reserve		<u>\$29,597,000</u>
NGREA EQUIPMENT PLAN TOTAL		\$177,583,948
Total Management Adjustment (Title III)		(\$621,000)
1% Across the board cut		(\$1,794,000)

\* - denotes items of special interest outlined in HR 109-359, Title III - Procurement

NGREA APPROPRIATED AMOUNT

\$180,000,000



RESERVE AFFAIRS

FEB 2 3 2006

The Honorable John W. Warner Chairman, Committee on Armed Services United States Senate Washington, DC 20510

Dear Mr. Chairman:

I have enclosed the Air National Guard (ANG) Director's acquisition plan for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 ANG Title IX NGREA Equipment List and Fielding Plan" reflects the intended equipment acquisitions for the Air National Guard. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirements contained in the Title IX NGREA section of the Conference Report accompanying PL 109-148.

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

T.F. Hal

T. F. Hall

Enclosures: As stated

cc: Honorable Carl Levin Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 9 of 238



RESERVE AFFAIRS

FEB 2 8 2006

The Honorable Ted Stevens Chairman, Subcommittee on Defense Committee on Appropriations United States Senate Washington, DC 20510

Dear Mr. Chairman:

I have enclosed the Air National Guard (ANG) Director's acquisition plan for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 ANG Title IX NGREA Equipment List and Fielding Plan" reflects the intended equipment acquisitions for the Air National Guard. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirements contained in the Title IX NGREA section of the Conference Report accompanying PL 109-148.

The intent of the Department is to proceed with execution of the summary report.

Sincerely, T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable Daniel K. Inouye Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 10 of 238



RESERVE AFFAIRS

FEB 2 3 2005

The Honorable Duncan Hunter Chairman, Committee on Armed Services U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

I have enclosed the Air National Guard (ANG) Director's acquisition plan for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 ANG Title IX NGREA Equipment List and Fielding Plan" reflects the intended equipment acquisitions for the Air National Guard. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirements contained in the Title IX NGREA section of the Conference Report accompanying PL 109-148.

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable Ike Skelton Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 11 of 238



RESERVE AFFAIRS

FEB 2 8 2005

The Honorable C. W. Bill Young Chairman, Subcommittee on Defense Committee on Appropriations U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

I have enclosed the Air National Guard (ANG) Director's acquisition plan for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 ANG Title IX NGREA Equipment List and Fielding Plan" reflects the intended equipment acquisitions for the Air National Guard. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act. (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirements contained in the Title IX NGREA section of the Conference Report accompanying PL 109-148.

The intent of the Department is to proceed with execution of the summary report.

Sincerely, TE Hall

T. F. Hall

Enclosures: As stated

cc: Honorable John P. Murtha Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 12 of 238

# FY06 ANG Title IX NGREA Equipment List and Fielding Plan(Feb 06)

.

ANG equipment plans for Title IX NGREA appropriated funds are as follows:

Rescue a	and Security Police Equipment	\$20,900,000
Rescu	e Kits / \$1,700,000 / FY06	
5	Durable Inflatable Boat Packages/\$101,115	\$505,875
10	Rescue Equipment Package/\$23,904	\$239,040
5	Unit Autonomous Ops Kit/\$33,360	\$166,800
50	Security Forces Deployed Equip Pkgs/\$14,728	\$736,400
40	Specialized CSAR Rucks/\$625	\$25,000
Indep	endent, Sustained Operations / \$1,800,000 / FY07	
41	Base Shelters/\$12,195	\$500,000
4	Iridium Phones/\$6,930	\$27,720
4	Shoring Kits/\$56,000	\$224,000
5	Ground Control Flyaway Systems/\$12,000	\$60,000
· 36	PRC 117 Radios/\$25,996	\$935,856
Enha	nced Disaster Response Capability / \$14,900,000 / FY07	
65	Rescue Deployed Equip Pkg/\$229,231	\$14,900,000
Rapid	Airfield Repair and Restoration / \$2,500,000 / FY06	
2	Airfield Lighting Kits/\$17,500	\$35,000
3	Surveyors Equipment (landing sites)/\$35,000	\$105,000
3	Prowler Vehicles for Operations/\$25,000	\$75,000
24	Field radio & telephone equipment pkgs/\$93,377	\$2,241,039
<u>Aero Me</u>	<u>dical Equipment</u>	\$23,600,000
Emer	gency Kits / \$2,700,000 / FY06	
5	Expeditionary Medical Support Kit/\$400,000	\$2,000,000
1	SPEAR Medical Kits	\$700,000
Comn	nunication and Automation / \$6,700,000 / FY07	
10	Iridium Satellite Phones/\$6,000	\$60,000
400	INMARSAT Radios/\$10,275	\$4,110,000
400	800 mHz Radios/\$5,000	\$2,000,000
10	C2 Network Nodes/\$54,800	\$548,000
Vehic	les plus Support / \$6,200,000 / FY06	
20	HMMV Vehicles/\$50,000	\$1,000,000
20	LMTV Vehicles/\$220,000	\$4,400,000
40	Air Conditioning Units Remote Ops/\$10,000	\$400,000
100	Portable Secure FM Radios (remote ops)/\$3,120	\$312,000
Emer	gency Mobile Medical Treatment Facility / \$8,000,000 / H	Y07

2 EMEDS Facility/\$4,000,000

FOIA Requested Record #J-10-0005 National Guard Bureau Page 13 of 238

\$8,000,000

<u>Civil Er</u>	gineering	\$41,900,000				
Civil	Civil Engineering Heavy Equipment / \$4,900,000					
5	Excavators/\$150,600	\$753,000				
3	Crawler Tractors/\$215,800	\$647,400				
6	Loaders/\$205,500	\$1,233,000				
4	Graders/\$141,302	\$565,208				
3	Cranes/\$180,000	\$540,000				
13	Dump Trucks/\$87,000	\$1,131,000				
<b>Fire</b>	Fighting Vehicles / \$4,000,000 / FY07					
5	P-19 Firefighting Vehicles/\$705,000	\$3,525,000				
1	P-10 Firefighting Vehicles	\$224,000				
1	P-18 Firefighting Vehicles	\$289,000				
Heav	y Equipment Capability Enhancement / \$20,000,000	/ FY07				
10	Excavators/\$150,600	\$1,506,000				
5	Crawler Tractors/\$215,800	\$1,079,000				
10	Loaders/\$205,500	\$2,055,000				
8	Graders/\$141,302	\$1,130,416				
6	Cranes/\$180,000	\$1,080,000				
2	P-19 Firefighting Vehicle/\$705,000	\$1,410,000				
20	Dump Trucks/\$87,000	\$1,740,000				
1	REO/RTS Support Facility (mobile)	\$10,000,000				
Auste	ere Location Equipment (Red Horse) / \$13,000,000 / F	¥07				
8	Excavators/\$150,600	\$1,204,800				
4	Crawler Tractors/\$215,800	\$863,200				
7	Loaders/\$205,500	\$1,438,500				
6	Graders/\$141,302	\$847,812				
4	Cranes/\$180,000	\$720,000				
2	P-19 Firefighting Vehicle/\$705,000	\$1,410,000				
17	Dump Trucks/\$87,000	\$1,479,000				
13	Red Horse Generators; Support Equip/\$384,615	\$5,000,000				
	s and Services Support	\$40,500,000				
	le Support / \$1,100,000 / FY06					
80	Utility Trucks/\$13,750	\$1,100,000				
Equip	oment for Independent Operations / \$39,400,000 / FY	07				
9	150 Person Bear Kits/\$1,255,556	\$11,300,000				
2	550 Person Bear Kits/\$11,500,000	\$23,000,000				
12	· ·	\$100,000				
10	SPEK Kitchens/\$500,000	\$5,000,000				

•

i.

	nd and Control	\$36,300,000
Netw	ork Modernization / \$32,500,000 / FY06	
Mode	rnize Nationwide Network Backbone / \$6,000,000	
112	Routers/\$41,964	\$4,700,000
54	Installation/Circuit Costs/\$24,074	\$1,300,000
10	Cell Phone Restoral Kits/\$1,000,000	\$10,000,000
1	NGB Directorate Facility C2 Node	\$5,000,000
54	Deployable Wireless LAN/\$100,000	\$5,400,000
10	Second Level Mobile Network Backup/\$100,000	\$1,000,000
1	Handheld First Responder Radio Bridge	\$3,000,000
1	Hardened Command and Control Node	\$150,000
1,000	) International Maritime Satellite Radios/\$2,000	\$2,000,000
Com	nunication and Data Links / \$3,800,000 / FY07	
35	Rover Data Link Transmitters/\$100,000	\$3,500,000
19	AN-MRC-144 Mobile Radios/\$16,905	\$321,200
Aircraft	Equipment	\$33,400,000
	) Scathe View ISR Platform Improvements / \$8,900,0	
5	LOS-BLOS Data Links/\$1,680,000	\$8,400,000
5	ABIT CDL Data Links/\$100,000	\$500,000
BC-2	6 Aircraft Equipment / \$17,800,000 / FY07	
11	ISADS Processor Upgrade/\$227,272	\$2,500,000
13	ABIT CDL Datalinks/\$100,000	\$1,300,000
13	FLIR Replacement/\$1,076,923	\$14,000,000
Searc	h and Rescue Enhancement / \$2,200,000 / FY07	
1	C-130 APN-241 Radar	\$800,000
1	Targeting Pod	\$1,400,000
Displ	ay Improvements / \$4,500,000 / FY07	
18	HH-60 Color Displays/\$111,111	\$2,000,000
9	LARS Upgrades/\$277,778	\$2,500,000
Functio	nal Area Support	\$3,400,000
	at Weather Equipment and Communications / \$2,000	
143	Night Vision Goggles/\$6,993	\$1,000,000
39	PRC-117 Radios/\$25,996	\$1,000,000
Safet	y Equipment / \$200,000 / FY06	
4	All Terrain Utility Vehicles/\$50,000	\$200,000
Night	: Vision Goggles / \$1,200,000 / FY06	
267	Night Vision Goggles/\$4,500	\$1,200,000
	TOTAL	\$200,000,000

; ;



RESERVE AFFAIRS

FEB 1 4 2006

The Honorable C. W. Bill Young Chairman, Subcommittee on Defense Committee on Appropriations U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

I have enclosed the Army National Guard and Army Reserve Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 Summary Title IX NGREA Acquisition Report" reflects the intended equipment acquisitions for the Army National Guard and Army Reserve. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirement contained in the Title IX NGREA of PL 109-148. The Air National Guard Title IX NGREA report and all Reserve component Title III NGREA reports will be forwarded under separate cover.

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable John P. Murtha Ranking Member





RESERVE AFFAIRS

FEB 1 4 2005

The Honorable John W. Warner Chairman, Committee on Armed Services United States Senate Washington, DC 20510

Dear Mr. Chairman:

I have enclosed the Army National Guard and Army Reserve Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 Summary Title IX NGREA Acquisition Report" reflects the intended equipment acquisitions for the Army National Guard and Army Reserve. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirement contained in the Title IX NGREA of PL 109-148. The Air National Guard Title IX NGREA report and all Reserve component Title III NGREA reports will be forwarded under separate cover.

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable Carl Levin Ranking Member



RESERVE AFFAIRS

FEB 1 4 2006

The Honorable Ted Stevens Chairman, Subcommittee on Defense Committee on Appropriations United States Senate Washington, DC 20510

Dear Mr. Chairman:

I have enclosed the Army National Guard and Army Reserve Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 Summary Title IX NGREA Acquisition Report" reflects the intended equipment acquisitions for the Army National Guard and Army Reserve. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirement contained in the Title IX NGREA of PL 109-148. The Air National Guard Title IX NGREA report and all Reserve component Title III NGREA reports will be forwarded under separate cover.

The intent of the Department is to proceed with execution of the summary report.

Sincerely, T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable Daniel K. Inouye Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 18 of 238



RESERVE AFFAIRS

FEB 1 4 2006

The Honorable Duncan Hunter Chairman, Committee on Armed Services U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

I have enclosed the Army National Guard and Army Reserve Chiefs' acquisition plans for miscellaneous equipment to be purchased with funding appropriated in the fiscal year (FY) 2006 Title IX National Guard and Reserve Equipment Appropriation (NGREA). The enclosed "FY 2006 Summary Title IX NGREA Acquisition Report" reflects the intended equipment acquisitions for the Army National Guard and Army Reserve. The equipment included in this summary report meets critical readiness requirements identified in the 2006 Department of Defense Appropriations Act (PL 109-148) and reflects necessary operational and budgetary decision adjustments.

This report is submitted in accordance with the reporting requirement contained in the Title IX NGREA of PL 109-148. The Air National Guard Title IX NGREA report and all Reserve component Title III NGREA reports will be forwarded under separate cover.

The intent of the Department is to proceed with execution of the summary report.

Sincerely,

I.F THE

T. F. Hall

Enclosures: As stated

cc: Honorable Ike Skelton Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 19 of 238

#### FY 2006 SUMMARY TITLE IX NGREA ACQUISITION REPORT ARMY NATIONAL GUARD AND ARMY RESERVE EQUIPMENT PLAN (IAW P.L. 109-148) with FIELDING PLAN

			Fiel	lding Plan	
ARMY NATIONAL GUARD (\$700,000,000)	<u>Ouantity</u>	Cost	2006	2007	2008
M1083 MTV CARGO	650	\$80,392,650		500	150
M1088 MTV TRACTOR 5-TON	188	\$31,093,696	0	143	45
M1089 MTV WRECKER 5-TON	122	\$45,797,458	0	95	27
M1078 LMTV 2.5-TON CARGO	1,402	\$157,725,000	0	1000	402
MOVEMENT TRACKING SYSTEM	4.616	\$113,553,600	0	2308	2308
JNN - Uex	2	\$48,300,000	0	0	2
JNN - SUSTAINMENT BRIGADE	1	\$8,800,000	0	0	1
JNN - FIRES BRIGADE	5	\$44,000,000	0	0	5
JNN - MANUEVER ENHANCEMENT BRIGADE	5	\$37,600,000	0	0	5
JNN - JCCSE	1	\$55,000,000	0	0	1
HEMTT TANKER	86	\$27,950,000	0	86	0
M915A3 TRACTOR	60	\$7,680,000	0	0	60
TQG TACTICAL QUIET GENERATOR	112	\$4,368,000	0	0	112
SINCGARS	3,951	\$15,408,900	0	2400	1551
M872 TRAILER FOR M915 TRACTOR	130	\$6,045,000	0	130	0
PVS-14 NVG	5.010	\$16.282.500	0	3721	1289
TOTAL		\$699,996,804			
ALL ARNG EQUIPMENT IS LISTED ON 22 SEPT 2005 REPORT TO CO	NGRESS				
ARMY RESERVE (\$100,000,000)	Quantity	Cost			
FMTV	97	\$12,171,754	0	97	0
MAINTENENACE SUPPORT DEVICE/ICE	33	\$543,000	0	33	0
HEMTT BASED WATER TENDER	17	\$3,825,000	0	0	17
M915A3 TRACTOR	61	\$7,787,687	0	61	0
M916A3 TRACTOR	23	\$4,600,000	0	23	0
M917A2 DUMP TRUCK	25	\$5,163,500	0	25	0
M1075 TRUCK CARGO	65	\$25,870,000	0	65	0
CONTAINER HANDLING UNIT	96	\$3,953,088	0	96	0
ROUGH TERRIAN CARGO HANDLER	16	\$8,000,000	0	0	16
ALL TERRAIN LIFTER ARMY SYSTEM	48	\$6,720,000	48	0	0
M872A3 SEMITRAILER, FLATBED	198	\$10,098,000	0	198	0
M1095/M1082 TRAILER CARGO: FMTV W/DROPSIDES	25	\$1,557,225	0	25	0
M1076 PALLETIZED LOAD SYSTEM TRAILER	40	\$2,200,464	0	40	0
ALARM, CHEMICAL AGENT, AUTOMATIC, M22	95	\$950,000	95		0
IMPROVED CHEMICAL AGENT MONITOR	90	\$675,000	0	90	0
BASE BAND NODE	1	\$3,700,000	0	i	0
DEFENSE ADVANCED GLOBAL POSTIONING RECEIVER	150	337200	0	150	0
M4 CARBINE	139	\$144,652	0	139	0
15KW GENERATOR POWER UNIT	50	\$1,190,550	0	50	0
POWER UNIT, PU-801A 15 KW	5	\$115,680	0	5	0
3KW GENERATOR SKID-MTD	20	\$184,000	20	0	0
5KW GENERATOR SKID-MID	26	\$213,200	0	26	0
TOTAL		\$100,000,000			
NGREA EQUIPMENT PLAN SUMMARY					
Component		Total			
Army National Guard		\$699.996.804			

Component	Total
Army National Guard	\$699,996,804
U.S. Army Reserve	\$100,000,000
Total Management Adjustment (Title IX)	\$0
Army NGREA APPROPRIATED AMOUNT	\$799,996,804

.



NOV 1 7 2006

The Honorable John W. Warner Chairman, Committee on Armed Services United States Senate Washington, DC 20510

Dear Mr. Chairman:

Consistent with the National Guard and Reserve Equipment appropriation in the Department of Defense Appropriations Act, 2007 (Public Law 109-298), Title III, I have enclosed a consolidated report summarizing the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with \$288,835,000 in funding appropriated in the National Guard and Reserve Equipment appropriation. The enclosed "FY 2007 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

The Conference Report accompanying the appropriation provided that \$2.94 billion of the procurement funds provided in Title IX shall be available only for the Army National Guard and Army Reserve, and that \$500,000,000 of those funds shall be available for the purposes identified in House Report 109–504 under the heading "National Guard and Reserve Equipment" identified by the National Guard Bureau as "Essential 10 Equipment Requirements for the Global War on Terror." Given that the funds provided are a subset of the procurement tables enumerated in Title IX, the Department will execute those funds in accordance with Title IX and treat any changes as a reprogramming request.

Sincerely,

T.F. Ha T. F. Hall

Enclosures: As stated

cc: Honorable Carl Levin Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 93 of 238



RESERVE AFFAIRS

NOV 1 7 2006

The Honorable Ted Stevens Chairman, Subcommittee on Defense Committee on Appropriations United States Senate Washington, DC 20510

Dear Mr. Chairman:

Consistent with the National Guard and Reserve Equipment appropriation in the Department of Defense Appropriations Act, 2007 (Public Law 109-298), Title III, I have enclosed a consolidated report summarizing the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with \$288,835,000 in funding appropriated in the National Guard and Reserve Equipment appropriation. The enclosed "FY 2007 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

The Conference Report accompanying the appropriation provided that \$2.94 billion of the procurement funds provided in Title IX shall be available only for the Army National Guard and Army Reserve, and that \$500,000,000 of those funds shall be available for the purposes identified in House Report 109–504 under the heading "National Guard and Reserve Equipment" identified by the National Guard Bureau as "Essential 10 Equipment Requirements for the Global War on Terror." Given that the funds provided are a subset of the procurement tables enumerated in Title IX, the Department will execute those funds in accordance with Title IX and treat any changes as a reprogramming request.

Sincerely,

T. F. Hall

Enclosures: As stated

cc: Honorable Daniel K. Inouye Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 94 of 238



RESERVE AFFAIRS

NOV 1 7 2006

The Honorable Duncan Hunter Chairman, Committee on Armed Services U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

Consistent with the National Guard and Reserve Equipment appropriation in the Department of Defense Appropriations Act, 2007 (Public Law 109-298), Title III, I have enclosed a consolidated report summarizing the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with \$288,835,000 in funding appropriated in the National Guard and Reserve Equipment appropriation. The enclosed "FY 2007 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

The Conference Report accompanying the appropriation provided that \$2.94 billion of the procurement funds provided in Title IX shall be available only for the Army National Guard and Army Reserve, and that \$500,000,000 of those funds shall be available for the purposes identified in House Report 109–504 under the heading "National Guard and Reserve Equipment" identified by the National Guard Bureau as "Essential 10 Equipment Requirements for the Global War on Terror." Given that the funds provided are a subset of the procurement tables enumerated in Title IX, the Department will execute those funds in accordance with Title IX and treat any changes as a reprogramming request.

Sincerely,

T.F. Hall

T. F. Hail

Enclosures: As stated

cc: Honorable Ike Skelton Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 95 of 238



RESERVE AFFAIRS

NOV 17 2006

The Honorable C. W. Bill Young Chairman, Subcommittee on Defense Committee on Appropriations U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

Consistent with the National Guard and Reserve Equipment appropriation in the Department of Defense Appropriations Act, 2007 (Public Law 109-298), Title III, I have enclosed a consolidated report summarizing the Reserve component Chiefs' acquisition plans for miscellaneous equipment to be purchased with \$288,835,000 in funding appropriated in the National Guard and Reserve Equipment appropriation. The enclosed "FY 2007 Summary Title III NGREA Acquisition Report" reflects the intended equipment acquisitions for all Reserve components. The equipment included in this summary report meets critical readiness and modernization requirements and reflects necessary operational and budgetary decision adjustments.

The Conference Report accompanying the appropriation provided that \$2.94 billion of the procurement funds provided in Title IX shall be available only for the Army National Guard and Army Reserve, and that \$500,000,000 of those funds shall be available for the purposes identified in House Report 109–504 under the heading "National Guard and Reserve Equipment" identified by the National Guard Bureau as "Essential 10 Equipment Requirements for the Global War on Terror." Given that the funds provided are a subset of the procurement tables enumerated in Title IX, the Department will execute those funds in accordance with Title IX and treat any changes as a reprogramming request.

Sincerely,

T.F. H.P.

T. F. Hall

Enclosures: As stated

cc: Honorable John P. Murtha Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 96 of 238

#### FY 2007 SUMMARY TITLE III N. ... A ACQUISITION REPORT NATIONAL GUARD AND RESERVE EQUIPMENT PLAN

			_
	ARMY NATIONAL GUARD (\$75.000.000)	<u>Ovantity</u>	<u>Cost</u>
	ARNG DATA WAREHOUSE HARDWARE UPGRADE	3	\$2,100,000
	INTRUSION DETECTION PREVENTION SYSTEM	112	\$1,792,000
	COOP HARDWARE UPGRADE	3 90	\$6,000,000
	UH-60 AND UH-1 HOISTS (H39331)		\$9,990,000
	HIGH PERFORMANCE RESCUE HOIST UH-60 MOD (M59733)	163	\$2,601,154
	MAINT PLT HYD ADJ B4A (M02504)	4	\$14,336
	T/S AVN MAIN SE 2 A/M (W60206) SCALE AIRCRAFT WEIGHIN (S41732)	14	\$833,358 \$103.055
	TEST SET ACFT FUEL QUA (V77715)	14	\$84,112
	TEST SET: AVN VIB ANA (T53635)	14	\$112,896
		16	\$466,688
	TOOL KIT TUBE SWAGING (T57982) VIRTUAL DOOR GUNNERY TRAINER (VDGT)	10	\$850,000
	VIRTUAL DOOR GUNNERT TRAINER (VDGT)	5	\$4,000,000
	DFIRST - Flextrain	1	\$18,000,000
	ARMY BATTLE COMMAND SYSTEM TRAINING SYSTEM	16	\$5,225,800
	FBCB2	420	\$10,500,000
	MOVEMENT TRACKING SYSTEM	121	\$2,976,600
	LINE HAUL TRUCKS M916A3	20	\$4,380,000
	HF 117 SATCOM Radios (Z00876)	44	\$2,420,000
	HF 150 Radios (200873)	45	\$2,250,000
	Pro Rata Share of Reduction Under P.L. 109-298. Sec 8106		Incl in calc
	TOTAL ARNG TITLE III NGREA		\$74,699,999
	ARMY RESERVE (\$35,000,000)	Quantity	Cost
	FAMILY OF MEDIUM TACTICAL VEHICLES	26	\$4,550,000
٠	TRUCK TRACTOR, LINEHAUL, M915A3	16	\$2,095,872
٠	TRUCK TRACTOR, LINEHAUL, M916A3	15	\$3,059,252
٠	SIMPLE KEY LOADER (SKL) AN/PYQ-10(V)	ж	\$600,000
	M4 CARBINE	600	\$621,000
	NIGHT VISION GOGGLES	380	\$1,178,000
	MACH GUN 40MM: MK19 & EQUIPMENT	90	\$1,980,000
	MG 50 M2 HB FL GD/VEH	75	\$1,350,000
	COMPUTER SYS DIG AN/UYQ-90(V)2 MTS	250	\$4,779,576
	MAINTENANCE SUPPORT DEVICE/INTERNAL COMBUSTION ENG	300	\$4,941,300
	SHOP EQUIPMENT, CONTACT MAINT TRUCK	15	\$2,595,000
	THERMAL WEAPON SIGHT	60	\$810,000
	COMMUNICATION, COMMAND CONTROL COMPUTERS & INTEL	7	\$6,300,000
	Pro Rata Share of Reduction Under P.L. 109-298, Sec 8106		Inc) in calc
	TOTAL USAR TITLE III NGREA		\$34,860,000
		<i></i>	<b>.</b> .
	NAVY RESERVE (\$35,000,000)	Quantity	<u>Cost</u>
	Naval Coastal Warfare	100	****
	BODY ARMOR	199	\$497,000
	STANDARD BOATS C4ISR BLUE FORCE TRACKER SYSTEM	6	\$3,750,000
	LSSV PICK UP TRUCKS	36	\$612,000
	30 KW GENERATORS	3	\$104,000
	20 K FORKLIFT	3	\$114,000
	WATER TRAILERS	2	\$520,000 \$47,000
	GENERAL PURPOSE TRUCKS/VANS		\$150.000
	SPARE PART REPAIR KIT	3 1	
	EOD	ť.	\$151,000
	TACTICAL VEHICLES	4	\$714,000
	LSSV PICK UP TRUCKS	** 2	\$106,000
	C4ISR RADIO/COMM GEAR	1	\$350,000
	EOD EOUIPMENT KITS	1	\$328,000
		*	4020,0A)

\* - denotes items of special interest outlined in PL 109-576, Title III - Procurement

.

#### FY 2007 SUMMARY TITLE II NG. ... A ACQUISITION REPORT NATIONAL GUARD AND RESERVE EQUIPMENT PLAN

GENERAL PURPOSE TRUCKS	6	\$759,000
SPARE PART REPAIR KIT	1	\$67,000
Naval Construction Forces		
NAVAL CONSTRUCTION FORCE TACTICAL VEHICLES	10	\$574.000
CESE VEHICLES BACKHOE	30	\$2,820,000
CESE VEHICLES SKID STEER	5	\$175,000
CESE VEHICLES SCOOP LOADER	5	\$616,000
TACTICAL COMMUNICATION SETS	12	\$7,500,000
CONSTRUCTION FORCE WEAPONS	14	\$73,000
	10	1373,000
Navy Expeditionary Logistics Support Group	×	#7 x + 0.00
CIVIL ENGINEER SUPPORT EQUIPMETN VEHICLES	3	\$311,000
CARGO HANDLING DEPLOYMENT KIT	1	\$1,058,000
HMMWV	4	\$252,000
MATERIAL HANDLING EQUIPMENT	6	\$1,602,000
Navy Reserve Flight Programs		
C-130/C-9 UPGRADES		\$11,118,000
Pro Rata Share of Reduction Under P.L. 109-298, Sec 8106		Incl in calc
TOTAL USNR TITLE III NGREA		\$34,859,000
MARINE CORPS RESERVE (\$35,000,000)	<u>Ouantity</u>	Cost
* COMMUNICATIONS PACKAGE	£	\$1,436.050
VIRTUAL COMBAT CONVOY SYSTEM	2	\$4,900,000
INDIRECT FIRE - FORWARD AIR CONTROL TTRAINER (I-FACT)	5	\$1,875,000
MEDIUM TACTICAL VEHICLE REPLACEMENT - TRAINING SYSTEM	10	\$3,950,000
LOGISTICS SUPPORT WIDE AREA NETWORK (LSWAN) PACKAGE	4	\$3,465,000
DEPLOYABLE VIRTUAL TRAINING ENVIRONMENT (DVTE)		\$1,170,000
DEFENSE ADVANCED GPS RECEIVER (DAGR)	150	\$280,950
SENSOR MOBILE MONITORING SYSTEMS (2ND GENERATION)	3	\$900.000
LITENING II TARGETING POD	4	\$7,200,000
F/A-18 LITENING II TARGETING POD MODIFICATION KITS	6	\$108.000
* KC-130T AN/ARC-210 (V) MULTI-MODE RADIO SYSTEM	5	\$1,715,000
UC-12 AIRCRAFT		\$8,000,000
Pro Rata Share of Reduction Under P.L. 109-298, Sec 8106	1	(\$141,000)
TOTAL USMCR TITLE III NGREA		\$34,859,000
IOTAL USMCR IIILE IN NGREA		\$34,659,000
AIR NATIONAL GUARD ( \$75,000,000)	Quantity	Cost
Precision Strike		
F-16/A-10 HELMET MOUNTED CUEING SYSTEM INTEGRATION	8	\$3,900,000
F-16/A-10 TARGETING POD ENHANCEMENTS	4	\$5,000,000
F-16 AVIONICS ENHANCEMENT		\$1,000,000
* A-10/F-16 ALL WEATHER PRECISION STRIKE CAPABILITY		\$2,000,000
Data Link/Combat ID		
A-10/KC-135 BLOS RADIOS	70	\$8,000,000
RC-26 MSO STATION UPGRADES	11	\$825,000
A-10/HH-60/HC-130 SITUATIONAL AWARENESS DATALINK	103	\$4,759,000
A-10/HH-60/HC-130 LARS V-12	18	\$2,200,000
JSTARS GLOBAL CNS/ATM	6	\$1,000,000
Enhanced Survivability		
A-10/F-16 DEFENSIVE SYSTEMS UPGRADE		\$\$00,000
ALE-47 OPERATIONAL TESTER	38	\$1,500,000
C-130 CHAFF/FLARE DISPENSER SWITCHES	3	\$1,500,000
C-130 LAIRCM	•	\$750,000
C-5 DEFENSIVE SYSTEMS	4	\$5,000,000
HH-60/A-10 DISPLAYS	40	\$1.750.000
KC-135 SITUATIONAL COCKPIT DISPLAYS	20	\$603,000
C-130 ACTIVE NOISE REDUCTION	2	\$500,000
C-IN ACT VE NOISE REDUCTION	*	3.3(兵1,(五荒)

- denotes items of special interest outlined in PL 109-676, Title III - Procurement

.

#### FY 2007 SUMMARY TITLE IN N. ... A ACQUISITION REPORT NATIONAL GUARD AND RESERVE EQUIPMENT PLAN

F-16/A-10 ALQ-213 APU CONTINUATION AND FLARE		\$750,000
SECURITY FORCES OPERATIONAL EQUIPMENT		\$2,000,000
PJ/ST/CRO HIGH ALTITUDE EQUIPMENT	16	\$1,220,000
HH60 WEAPONS MODERNIZATION AND CSAR BOARD	54	\$2,250,000
Propulsion Modernization		\$2,500.000
C-130/F-16 PROPULSION SYSTEM UPGRADES		22.300,000
Simulation Systems MWS BENCH TESTER	1°	\$600,000
MWS BENCH TESTER MANPAD SIMULATOR	1	\$680,000
C-130/F-16/A-10/HH-60 VECTS	23	\$1,250,000
BOSS BOOM OPERATOR TRAINER	23	\$800,000
MULTI-MISSION CREW TRAINER		\$500.000
F-16/A-10/PREDATOR DMO/DTS ENHANCEMENTS		\$1,000,000
24-Hour Operations	*	*************
C-130 APN 241	\$	\$3,660,000
KC-135 NVG COMPATIBLE LIGHTING		\$500,000
MOBILE APPROACH CONTROL SYSTEM (MCAS)	r	\$2,000,000
MC-130 FLIR	Å	\$1,600,000
Command and Control		
TERMINAL ATTACK CONTROLLER (TAC) KIT	.11	\$2,086,000
I-FACT DISTRIBUTED MISSION OPERATIONS	10	\$666,000
AOC DMO CAPABILITY	3	\$200,000
ACS AIR SURVEILLANCE AND AIR CONTROL (ASAC)	13	\$500,000
INTELLIGENCE, SURVEILLANCE, RECON (ISR)		
PREDATOR OPERATIONS EQUIPMENT MOD AND INTEGRATION	1	\$3,000,000
DCGS COLLATERAL ENCLAVE & COMM SUPPORT MOD	1	\$3,411,000
SENIOR SCOUT SITUATIONAL AWARENESS KIT	١	\$1,750,000
Information Operations (10)		
NETWORK WARFARE TEST & TRAINING RANGE	1	\$594,000
NETWORK WARFARE LEARNING MANAGEMENT SYSTEM	1	\$407,000
Pro Rata Share of Reduction Under P.L. 109-298, Sec 8106		Incl in calc
TOTAL ANG TITLE III NGREA		\$74,699,000
AIR FORCE RESERVE (\$35,000,000)	<u>Onantity</u>	Cost
A10+ IAMS	2	56.000.000
CSA ADS	Ĵ	\$10,500,000
LITENING POD SPIRAL UPGRADE	12	\$2,309,000
HH-60 SMFCD	16	\$1,750,000
* A-10 MULTI-BAND RADIO/BLOS DATA TRANSFER CAPABILITY	5	\$6,700,000
C-130 YOKE MOUNTED SWITCH	-ii	\$2,600,000
C-130 APN 241	6	\$2,000,000
C-5 ARMOR	7	\$2,500,000
ADS TESTER	í	\$500,000
Pro Rata Share of Reduction Under P.L. 109-298, Sec 8106		Incl in calc
TOTAL AFRC TITLE III NGREA		\$34,859,000
NOREA FOURDACENT DI AN STRATADY		
NGREA EOUIPMENT PLAN SUMMARY Component		Total
Army National Guard		\$75,000,000
U.S. Army Reserve		\$35,000,000
U.S. Naval Reserve		\$35,000,000
U.S. Marine Corps Reserve		\$35,000,000
Air National Geard		\$75,000,000
U.S. Air Force Reserve		\$35,000,000
NGREA EOUPMENT PLAN TOTAL		\$290.000.000
Total Reduction (Title III)		(\$1,165,000)
NGREA APPROPRIATED AMOUNT	T	\$288,835,000
I'GREA ALI KVI KIA I EV AMUUNI	L	<i><i><i><i>w</i></i>200,000,000</i></i>

- denotes items of special interest outlined in PL 109-676, Title III - Procurement

FOIA Requested Record #J-10-0005 National Guard Bureau Page 99 of 238

Chin



LESERVE AFTAIRS

DEC 2 0 2007

The Honorable Carl Levin Chairman, Committee on Armed Services United States Senate Washington, DC 20510

Dear Mr. Chairman:

In accordance with the request in Title III, Procurement, National Guard and Reserve Equipment, of Conference Report 110-434 to accompany H.R. 3222, the Fiscal Year 2008 Department of Defense Appropriations Act, Public Law 110-116; enclosed, please find the Chiefs' of the Reserve and National Guard components modernization priority assessments. This equipment, to be purchased with \$973,376,000 (includes reductions directed by Sections 8097 and 8104) in appropriated funding, is critical to readiness and modernization requirements and reflects necessary operational and budgetary decisions. My intent is that the Reserve and National Guard components will obligate the funding for the listed equipment and notify the Congress of any changes, as appropriate.

Sincerely,

(John W. Winhl T. F. Hall

Enclosures: As stated

cc: Honorable John McCain Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 118 of 238

Chron



RESERVE AFFAIRS

ASSISTANT SECRETARY OF DEFENSE **1500 DEFENSE PENTAGON** WASHINGTON, DC 20301-1500

DEC 2 0 2007

The Honorable Daniel K. Inouye Chairman, Subcommittee on Defense Committee on Appropriations United States Senate Washington, DC 20510

Dear Mr. Chairman:

In accordance with the request in Title III, Procurement, National Guard and Reserve Equipment, of Conference Report 110-434 to accompany H.R. 3222, the Fiscal Year 2008 Department of Defense Appropriations Act, Public Law 110-116; enclosed, please find the Chiefs' of the Reserve and National Guard components modernization priority assessments. This equipment, to be purchased with \$973,376,000 (includes reductions directed by Sections 8097 and 8104) in appropriated funding, is critical to readiness and modernization requirements and reflects necessary operational and budgetary decisions. My intent is that the Reserve and National Guard components will obligate the funding for the listed equipment and notify the Congress of any changes, as appropriate.

Sincerely,

John D. Wuhl T. F. Hall

Enclosures: As stated

CC: Honorable Ted Stevens **Ranking Member** 



FOIA Requested Record #J-10-0005 National Guard Bureau Page 119 of 238

Alm



DEC 2 0 2007

The Honorable Ike Skelton Chairman, Committee on Armed Services U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

In accordance with the request in Title III, Procurement, National Guard and Reserve Equipment, of Conference Report 110-434 to accompany H.R. 3222, the Fiscal Year 2008 Department of Defense Appropriations Act, Public Law 110-116; enclosed, please find the Chiefs' of the Reserve and National Guard components modernization priority assessments. This equipment, to be purchased with \$973,376,000 (includes reductions directed by Sections 8097 and 8104) in appropriated funding, is critical to readiness and modernization requirements and reflects necessary operational and budgetary decisions. My intent is that the Reserve and National Guard components will obligate the funding for the listed equipment and notify the Congress of any changes, as appropriate.

Sincerely,

John D. Wuhler For T. F. Hall

Enclosures: As stated

cc: Honorable Duncan Hunter Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 120 of 238

Chron



RESERVE AFFAIR

ASSISTANT SECRETARY OF DEFENSE 1500 DEFENSE PENTAGON WASHINGTON, DC 20301-1500

DEC 2 0 2007

The Honorable John P. Murtha Chairman, Subcommittee on Defense Committee on Appropriations U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

In accordance with the request in Title III, Procurement, National Guard and Reserve Equipment, of Conference Report 110-434 to accompany H.R. 3222, the Fiscal Year 2008 Department of Defense Appropriations Act, Public Law 110-116; enclosed, please find the Chiefs' of the Reserve and National Guard components modernization priority assessments. This equipment, to be purchased with \$973,376,000 (includes reductions directed by Sections 8097 and 8104) in appropriated funding, is critical to readiness and modernization requirements and reflects necessary operational and budgetary decisions. My intent is that the Reserve and National Guard components will obligate the funding for the listed equipment and notify the Congress of any changes, as appropriate.

Sincerely,

Gr Gehn D Winkl

T. F. Hall

Enclosures: As stated

cc: Honorable C. W. Bill Young Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 121 of 238



RENERVE APPAIRS

KC 2: CL

The Honorable Carl Levin Chairman, Committee on Armed Services United States Senate Washington, DC 20510

Dear Mr. Chairman:

In accordance with the Consolidated Security, Disaster Assistance, and Continuing Appropriations Act, 2009; Public Law 110-329, Division C, Title III: Procurement, National Guard and Reserve Equipment, please find the lists of modernization priorities provided by the Chiefs of the Reserve and National Guard components. The appropriation of \$747,788,000 (includes reduction directed in section 8101) will be used towards readiness and modernization requirements. The respective lists annotate (a) equipment on the services' unfunded priority lists, (b) "Essential 10 Equipment Requirements for the National Guard," and (c) equipment identified by the Committees as "high priority items."

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

A similar letter has been sent to the other congressional defense committees.

Sincerely,

for John D. Winhl

Enclosures: As stated

cc: Honorable John McCain Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 181 of 238



Ownersee Areast

#### ASSISTANT SECRETARY OF DEFENSE 1500 DEFENSE PENTAGON WASHINGTON, DC 20301-1500

NOV 2 1 2003

The Honorable Daniel K. Inouve Chairman, Subcommittee on Defense Committee on Appropriations United States Senate Washington, DC 20510

Dear Mr. Chairman:

In accordance with the Consolidated Security, Disaster Assistance, and Continuing Appropriations Act, 2009; Public Law 110-329, Division C, Title III: Procurement, National Guard and Reserve Equipment, please find the lists of modernization priorities provided by the Chiefs of the Reserve and National Guard components. The appropriation of \$747,788,000 (includes reduction directed in section 8101) will be used towards readiness and modernization requirements. The respective lists annotate (a) equipment on the services' unfunded priority lists, (b) "Essential 10 Equipment Requirements for the National Guard," and (c) equipment identified by the Committees as "high priority items."

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

A similar letter has been sent to the other congressional defense committees.

Sincerely,

for (John D. Wender

T.F. Hall

Enclosures: As stated

cc: Honorable Ted Stevens **Ranking Member** 



FOIA Requested Record #J-10-0005 National Guard Bureau Page 182 of 238



MAR SA 192

RESERVE AFFAIRS

The Honorable Ike Skelton Chairman, Committee on Armed Services U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

In accordance with the Consolidated Security, Disaster Assistance, and Continuing Appropriations Act, 2009; Public Law 110-329, Division C, Title III: Procurement, National Guard and Reserve Equipment, please find the lists of modernization priorities provided by the Chiefs of the Reserve and National Guard components. The appropriation of \$747,788,000 (includes reduction directed in section 8101) will be used towards readiness and modernization requirements. The respective lists annotate (a) equipment on the services' unfunded priority lists, (b) "Essential 10 Equipment Requirements for the National Guard," and (c) equipment identified by the Committees as "high priority items."

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

A similar letter has been sent to the other congressional defense committees.

Sincerely,

for John D. Winde

Enclosures: As stated

cc: Honorable Duncan Hunter Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 183 of 238



1973 S. 🗗 🤤 🔷 🖓

RESERVE AFFAIRS

The Honorable John P. Murtha Chairman, Subcommittee on Defense Committee on Appropriations U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

In accordance with the Consolidated Security, Disaster Assistance, and Continuing Appropriations Act, 2009; Public Law 110-329, Division C, Title III: Procurement, National Guard and Reserve Equipment, please find the lists of modernization priorities provided by the Chiefs of the Reserve and National Guard components. The appropriation of \$747,788,000 (includes reduction directed in section 8101) will be used towards readiness and modernization requirements. The respective lists annotate (a) equipment on the services' unfunded priority lists, (b) "Essential 10 Equipment Requirements for the National Guard," and (c) equipment identified by the Committees as "high priority items."

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

A similar letter has been sent to the other congressional defense committees.

Sincerely,

for John D. Wink T. F. Hall

Enclosures: As stated

cc: Honorable C. W. Bill Young Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 184 of 238
HR 2638		Unfunded			
"High	"Nat'l Guard	"Major Item			
<b>Priority</b> <sup>a</sup>	Essential 10"	Shortages"	ARMY NATIONAL GUARD (\$478.576)	<b>Quantity</b>	Cost (\$K)
*	*	#2	FAMILY OF MEDIUM TACTICAL VEHICLES	426	\$123,281
*	*	#1	FAMILY OF LIGHT TACTICAL VEHICLES (HMMWV VARIANTS)	810	\$102,787
+	*		TACTICAL RADIOS	3,580	\$69,291
*	*		BLACKHAWK MODERNIZATION PROGRAM	61	\$32,818
	*	#5	NIGHT VISION	3,831	\$25,356
	*		LIGHT UTILITY- MISSION EQUIPMENT PACKAGE	20	\$24,000
*	*	#6	CHEMICAL DECONTAMINATION	2,140	\$17,817
	*	#10 & 4	JFHQ and COMMAND & CONTROL SYSTEMS	1,228	\$17,070
*			AH-64 A to D UPGRADES	l	\$10,000
	*		HORIZONTAL CONSTRUCTION EQUIPMENT	45	\$8,543
	*	#4	MILSATCOM	3	\$7,935
	*		MAINTENANCE SYSTEMS	350	\$6,383
	•	#3	DIGITAL ENABLER	323	\$6,363
*	*		SMALL ARMS	3,201	\$5,893
	۲		TACTICAL TRAILERS	136	\$5,517
	*		MEDICAL SYSTEMS	414	\$3,898
	*		RTE & AREA CLEARANCE	240	\$3,811
	*	#8	LIQUID LOGISTICS STORAGE/DISTRIBUTION SYSTEMS	11	\$3,789
	*		FORCE PROTECTION	575	\$2,365
	*		GENERATORS	50	\$1,668
			TOTAL ARNG TITLE III NGREA		\$478,586
HR 2638		Unfunded			
"High	"Nat'l Guard	"Major Item			
Priority"	Essential 10"	Shortages"	ARMY RESERVE (\$52,345)	Quantity	Cost
* <sup>-</sup>			HEAVY EXPANDED MOBILITY TACTICAL TRUCK	50	\$22,500
\$			RADIO AN/PSC-5D	101	\$6,565
÷			JOINT SMALL TRANSPORTABLE DECONTAMINATION SYSTEM	200	\$8,599
		#11	LIGHT TACTICAL TRAILER, 3/4 TON	405	\$3,645
		-	TRAILER, PALLETIZED LOAD SYSTEM	40	\$2,080
*			TRUCK AMBULANCE: 4 LITTER ARMD 4X4 W/E (HMMWV)	39	\$980
			TRUCK TRACTOR LINE HAUL, M916A3	39	\$7,976
			TOTAL USAR TITLE III NGREA		\$52,345

FOIA Requested Record #J-10-0005 National Guard Bureau Page 185 of 238

.

HR 2638 "High	"Nat'l Guard	Unfunded "Major Item			
Priority"	Essential 10"	Shortages"	<u>NAVY RESERVE (\$37,389)</u> Maritime Expeditionary security force equipment	<b>Quantity</b>	Cost
		#2	MESF PERSONNEL GEAR ISSUE	910	\$4,613
		#2	MESF NON-LETHAL WEAPONS	14	\$502
		#2	MESF C41 GEAR	159	\$2,551
			EXPLOSIVE ORDNANCE DISPOSAL (EOD) EQUIPMENT	1	
		#3	EOD ITEMS UNDER \$5M (KITS)	1	\$6,316
			NAVAL CONSTRUCTION FORCE (NCF) EQUIPMENT	•	40,010
		#4	TACTICAL VEHICLES	1	\$1,403
		#4	CESE CONSTRUCTION EQUIPMENT	ŧ I	\$3,055
		#4	MATEREIAL HANDLING EQUIPMENT	6	\$792
		#4	ITEMS UNDER \$5M	Ĭ	\$321
			NAVAL EXPEDITIONARY LOGISTICS SUPPORT GROUP EQUIPMENT		4.04.9
		#5	ITEMS UNDER \$5M	1	\$2,200
		#5	120K FUEL SYSTEM SUPPLY POINT	2	\$1,634
		#5	NAVELSG C41 (KIT)	- 1	\$1,446
		#5	MATERIAL HANDLING EQUIPMENT		\$1,026
		#5	TACTICAL VEHICLES	4	\$340
		#5	CESE CONSTRUCTION EQUIPMENT	1	\$215
		#7	MARINE PREPOSITIONING FORCE UTILITY BOATS	3	\$3,000
			FALL SAFE HANGAR FALL RESTRAINT SYSTEM	Ť	\$175
		#7	RIGGED HULL INFLATABLE BOAT (RHIB)	8	\$1,500
		#7	FFG SHAFT SPARES	1	\$300
		#10	F-5 OPERATIONAL FLIGHT TRAINER	2	\$6,000
			TOTAL USNR TITLE III NGREA	-	\$37,389
HR 2638		NGRER			
"High	"Nat'l Guard	Unfunded			
Priority"	Essential 10"	"Major Item	MARINE CORPS RESERVE (\$37,389)	Quantity	Cost
			TACTICAL LAPTOP COMPUTER PACKAGE	Various	\$4,713
*		#5	SUPPORTING ARMS UPGRADE TO DIGITAL TRNG ENVIRONMENT	100	\$2,882
		#10	BRIGHT STAR FLIR	6	\$7,200
			EMBARKATION MATERIALS	Various	\$200
			ALTERNATIVE/RENEWABLE ENERGY PRODUCTION EQUIP	1	\$200
		#7	TACTICAL REMOTE SENSOR SUITE (TTSS)	2	\$5,764
٠			LIGHT ARMORED VEHICLE 25 A2 VARIANT (LAV-25A2)	6	\$16,463
			TOTAL USMCR TITLE III NGREA	-	\$37,422
			Page 2 of 6		
				FOIA Requested Reco National Guard Bureau Page 186 of 238	

HR 2638 "High	"Nat'l Guard	Unfunded "Major Item			
Priority"	Essential 10 <sup>n</sup>	Shortages"	AIR FORCE RESERVE (\$37,389)	<b>Ouantity</b>	<u>Cost</u>
		#3	C-5A AIRLIFT DEFENSIVE SYSTEMS (ADS)	4	\$5,200
		#7	C-130 APN-241 RADAR	7	\$5,840
		#11	C-130 SAFIRE LOOK OUT CAPABILITY	34	\$9,200
		#10	F-16 COMMERCIAL FIRE CONTROL COMPUTER (CFCC)	60	\$1,860
			HELMET MOUNTED CUEING SYSTEM; NRE & LRIP	TBD	\$3,000
		#8	A-10 MISSILE WARNING SYSTEM	TBD	\$5,730
*			ATP PROCUREMENT & SPIRAL UPGRADES	3	\$3,049
		#13	F-16 BEYOND LINE OF SIGHT	49	\$1,510
			F-16 IMAGERY & DATA TRANSFER/CURSOR ON TARGET	TBD	\$2,000
			TOTAL AFRC TITLE III NGREA		\$37,389

Page 3 of 6

HR 2638 "High	"Nat'l Guard	Unfunded "Major Item			
Priority"	Essential 10"	Shortages"	AIR NATIONAL GUARD MEDICAL	<b>Quantity</b>	Cost
			Expeditionary Medical Support	1	\$1,700
			Expeditionary Medical Support Pediatric Package	2	\$1,116
			Advanced Electronic Support Equipment	-	\$670
	*		COMMUNICATIONS		
			Wireless LAN	8	\$1,080
			Joint Incident Site Communications	25	\$1,125
			Command Post Consoles	5	\$1,150
	*		LOGISTICS		- ,
			Reconnaissance, Surveillance, and Targeting for Expeditionary Medical Support	10	\$415
			Reconnaissance, Surveillance, and Targeting for Fatality Search & Recovery Team	3	\$36
			Kitchen Components	TBD	\$1,700
			Vehicles	7	\$231
	*		TRANSPORTATION		
			P-22 Pumpers Firefighting Vehicles	3	\$1,284
			P-26 Water Tenders Firefighting Vehicles	4	\$1,276
			P-19 & P-23 Firefighting Vehicles	1	\$751
	¥		ENGINEER		
			Night Vision Goggles for Firefighters	4	\$1,004
			Reverse Osmosis Water Purification	4	<b>\$940</b>
			Communications Set	4	\$548
			Explosive Ordnance Disposal Improvised Explosive Equip	1	\$773
	۲		CIVIL SUPPORT TEAMS (FORCE PROTECTION)		
			Powered Air Purifying Respirators	220	<b>\$66</b> 0
			Hazardous Material Equip for Firefighters	8	\$592
			Mobile Emergency Operations Center trailer with Command & Control Equip	2	\$1,168
			Fatality Search & Recovery Team Equipment	1	\$660
	*		MAINTENANCE		
			Tool Control System	88	\$1,700
			Fuel Leak Detector	18	\$468
			Strut Servicing Equipment	14	\$708
			C-130/F-16 Infrared Receiver Tester	45	\$225
	<b>ķ</b>		Munitions Storage Area Documentation SECURITY	TBD	\$50
			Security Forces Equipment & Training Upgrades	624	\$1,248
			Body Armor	800	\$1,440
			Page 4 of 6		
				FOIA Requested Recor	d # I_10_0005

FOIA Requested Record #J-10-0005 National Guard Bureau Page 188 of 238

		Night Vision Goggles	500	\$1,000
		Weapons upgrades	1500	\$2,850
*		AVIATION		
		F-16 Advanced Interrogator, Friend or Foe	8	\$320
		HH-60/PJ/ST Data Link	1	\$1,000
		C-130/KC-135/F-15/HI1-60 Data Link	1	\$4,000
		HC/MC-130 Enhanced Air Mobility Command	1	\$1,250
		PRECISION STRIKE		
	#9	Helmet Mounted Cuing System	TBD	\$9,000
		F-15/F-16 Avionics Enhancements		\$3,500
	#7	F-16/A-10 Advanced Targeting Pod	TBD	\$1,000
		F-16/A-10 Advanced Targeting Pod Modifications	ТВД	\$10,000
		DATA LINK/COMBAT IDENTIFICATION		
		F-16/A-10/HC-130 Beyond Line of Sight Radios	TBD	\$3,000
		C-130/KC-135 Beyond Line of Sight Radios	30	\$2,100
	#8	RC-26 Avionics Modification		\$500
		A-10/HH-60/HC-130 Low Altitude Radar System	TBD	\$1,000
		24-HOUR OPERATIONS		
		JSTARS 8.33 Radios	2	\$2,200
		F-15/F-16 Digital Video Recorder	ł	\$500
		C-130 Joint Precision Airdrop System	1	\$600
		C-21 Avionics Upgrades		\$1,000
		C-40 Avionics Enhancements		\$900
		ENHANCED SURVIVABILITY		
	#4	C-130/C-17/C-5A Defensive Systems	TBD	\$5,600
		Special Tactics uite	15	\$1,500
		C-17/C-130/C-5 Enhanced Lookout Capability	TBD	\$500
		HH-60 Defensive Armament Upgrade		\$2,252
	#6	KC-135/C-5/C-130 Counter Measures	TBD	\$1,000
	#6	C-130 Chaff/Flare Dispensers	3	\$1,500
		A-10/F-16 Defensive Systems Upgrades		\$3,500
		PROPULSION MODERNIZATION		
		C-130 Propulsion System Upgrade		\$3,500
		F-16/A-10 Propulsion System Upgrade		\$5,100
		SIMULATION SYSTEMS		
		KC-135 Boom Operator Simulator	1	\$1,500
		HH-60 Phased Array Radar for Overland Surveillance	TBD	\$2,000
		Unmanned Aircraft System Desktop Simulator	1	\$300
		INTELLIGENCE, SURVEILLANCE, RECONNAISSANCE (ISR)		
		Senior Scout PL-2 Security Accreditation	1	\$150
		Page 5 of 6		
			FOIA Requested Recor	

\$

.

FOIA Requested Record #J-10-0005 National Guard Bureau Page 189 of 238 .

•	
Distributed Common Ground	\$5,850
P.L. 110-329, Section 8101 Reduction	(\$310)
TOTAL ANG TITLE III NGREA	\$104,380

### **NGREA EQUIPMENT PLAN SUMMARY**

Component	Total
Army National Guard	\$478,586
U.S. Army Reserve	\$52,345
U.S. Naval Reserve	\$37,389
U.S. Marine Corps Reserve	\$37,422
U.S. Air Force Reserve	\$37,389
Air National Guard	<u>\$104,380</u>
NGREA EQUIPMENT PLAN TOTAL	\$747,511

Page 6 of 6

FOIA Requested Record #J-10-0005 National Guard Bureau Page 190 of 238



RESERVE AFFAIRS

ASSISTANT SECRETARY OF DEFENSE 1500 DEFENSE PENTAGON WASHINGTON, DC 20301-1500

SEP 1 6 2009

The Honorable John McCain Ranking Member, Committee on Armed Services United States Senate Washington, DC 20510

Dear Senator McCain:

In accordance with the Supplemental Appropriations Act, 2009; Public Law 111-32, Title III: Procurement, National Guard and Reserve Equipment, please find the lists of procurement priorities provided by the Chiefs of the Reserve and National Guard components. The appropriation of \$500,000,000 will be used towards urgent equipment needs. The respective lists annotate (a) equipment on the services' unfunded priority lists and (b) "Essential 10 Equipment Requirements for the National Guard."

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

A similar letter has been sent to the other congressional defense committees.

Sincerely,

Stillen

Dennis M. McCarthy

Enclosures: As stated



(NG only)	Unfunded Priority List #	Arny National Guard		2009 NGREA O		•
		Supplemental Appropriations Act, 2009 (HR 2346) NGREA		Item Cost		
X		Logistics Network Communications	140	\$ 3,200		448,000
<u>×</u>		Civil Support Teams (CST) (ex: MuttiGas Sensor, Joint Chemical Agent Detector (JCAD), Incident Command Radio Interface)	21	\$ 75,500		438,000
X	5	CBRNE Enhanced Response Force Package (CERFP)	145	\$ 18,000		1,047,500
X		BLACKHAWK Medical Evacuation (MEDEVAC)	8	\$ 275,000		2,200,000
X		BLACKHAWK Multi-Year Program (MYP)	4	\$ 1,555,555	· · · · · · · · · · · · · · · · · · ·	4,022,220
X		Aviation Health Information Management System (AV-HiMS)	28	\$ 384,615		10,000,000
<u> </u>		UH-60 Extended Range Fuel Storage Tanks (ERFST)	65	\$ 107,692		7,000,000
X		Light Utility Helicoptar Mission Enhancement Program (LUH MEP)	19	\$ 1,576,581	\$	29,955,039
X		CBRN Soldier Protection (ex: CHEMICALLY AND BIOLOGICALLY PROTECTED SHELTER SYSTEM)	17	\$ 733,323	5	12,466,491
<u> </u>	3	Commercial Off-the-Shelf Tactical Radios	430	\$ 77,000		16,210,000
		SIPRNet LEVEL I Access Equipment	177	\$ 27,779		1,944,530
X	9	Army Battle Command Systems (ABCS)	5	\$ 6,000,000		30,000,000
X		Construction Equipment (ex: Loaders; Scrapers)	39	\$ 424,523		7,713,552
X		Field Feeding Equipment (ex: Constinenzed Kitchens)	20	\$ 252,000	5	5,040,000
X	10	Liquid Logisitics Storage and Distribution (e.g.: FORWARD AREA WATER POINT SUPPLY SYSTEM: (FAW SS), WATER TANK (HIPPO))	18	\$ 243,000	\$	2,090,000
X	9	Logisitics Automation (TC-AIMS)	84	\$ 3,300		277,200
X		Maintenance Support Equipment (MSE) (e.g.: Electrical Test Sets)	250	\$ 17,000		4,250,000
X		Drivers Vision Enhancers (DVE)	280	\$ 27,049		7,573,720
X		Thermal Weapons Sights (TWS)	571	\$ 36,897		10,474,926
X		Family of Medium Tactical Vehicles (FMTV)	435	\$ 2,240,348		123,173,990
X		Family of Heavy Tactical Vehicles (FHTV)	95	\$ 52,548		4,992,060
X		Heavy Tactical Trailers	250	\$ 141,851		18.682,650
		Toni ARNG NORFA		1. S. M. S.		299,699,878

Unfunded Priority List #	Army Resarys	1	2009 NGREA O	CO Buy List
Section 1	Supplemental Appropriations Act, 2009 (HR 2346) NGREA	Oty	Nem Cost	Total Cost
	Line Haul	8	\$203,000	\$1,624,000
	Line Haul Light Equipment Transporter	2	\$214,755	\$429,510
3	HMMWV	225	\$175,130	\$39,404,250
	Intelligence/Electronic Warface Equipment	1	\$28,035,000	\$28,035,000
	Psychological Operations Equipment	31	\$177.500	\$5,502,500
	Total AR NGREA			\$74.995.260

.

Unfunded Priority List #	Navy Reserve		2009 NGREA OCI	O Buy List
	Supplemental Approp Act, 2009 (HR 2346) NGREA	Oty	Item Cost	Total Cost
3	Naval Construction Force Table of Allowance (TOA) Equipment in support of combat missions for Overseas Continency Operations	Various	Various	\$6,640,000
3	Rigged Hull Inflatable Boats (RHIB) for Explosive Ordnance Disposal Unit in support of combat missions for Oversease Contingency Operations	2	\$220,000	\$440,000
3	Naval Construction Force Tactical Vehicles and Support Equipment in support of combat missions for Overseas Continency Operations	Various	Various	\$5,477,000
4	Naval Expeditionary Logistics Support Group TOA Equipment in support of combat missions for Overseas Continency Operations	Various	Various	\$978,000
3	Naval Construction Force Collateral for Facilities in support of combat missions for Overseas Continency Operations	Various	Various	\$1,135,000
8	F5 Wing and F5 component upgrade in support of combat missions for Overseas Continency Operations	Various	Various	\$2,500,000
1	C-130T Electronic Prop Control System (EPCS) in support of combat missions for Overseas Continency Operations	8	\$869,000	\$8,952,000
2	C-9B Full Face Oxygen Masks in support of combat missions for Overseas Continency Operations	15	\$18,000	\$270,000
1	C-130T Cabin Altitude Warning Indicators in support of combat missions for Overseas Continency Operations	19	\$32,000	\$608,000
	Total NR NGREA			\$25,000.000

Unfunded Priority List #	d Marine Corps Reserve 2009 NGRE				
	Supplemental Approp Act, 2009 (HR 2348) NGREA	Caty	Item Cost	Total Cost	
1	Logistical Vehicle Replacement System-Cargo	43	\$406,226	\$17,467,718	
2	Marine Corps Tactical Welding Shop	3	\$70,000	\$210,000	
	Data Processing Module	20	\$16,400	\$328,000	
	Advanced Imagery Module	10	\$13,700	\$137,000	
	Tactical Handheld Communication Set	12	\$11,000	\$132,000	
	Commercial Satellite Communication Set	15	\$34,300	\$514,500	
	Media Exploitation Set-Lite	5	\$15,000	\$75,000	
	Handheld Satellite Communication Set	21	\$4,600	\$96,600	
4	Digital Terrain Analysis Mapping System-Lite	7	\$45,000	\$315,000	
5	Tactical Remote Sensor System Upgrades	102	\$26,700	\$2,723,400	
6	UC-35D Aircraft Survivability Upgrades	2	\$1,500,000	\$3,000,000	
	Total USMCR NGREA			\$24,999,218	

110.2

FOIA Requested Record #J-10-0005 National Guard Bureau Page 207 of 238

Priority List #	Air Force Reserve		2009 NGREA O	COE	anà ra
L. N. Carl	Supplemental Approp Act, 2009 (HR 2346) NGREA	City	item Cost		Total
3	A-10/F-16 Heimet Mounted Integrated Targeting (HMIT)	Various	Various	\$	4,00
7	HC-130 SLOS/BLOS Comm/Datalink	5	\$1,080,000	5	5,40
10	LITENING ATP	9	\$1,300,000	\$	11,70
14	F-16 ARC-210 Radio	23	\$169,565	\$	3,90
	Total AFR NGREA				\$25

"Duai Use" (NG only)	Unfunded Priority List #			2009 NGREA OCO Buy List		
		Supplemental Appropriations Act, 2009 (HR 2346) NGREA			Total Cost	
	9	F-16/A-10/HH-60 Heimet Mounted Cueing System	100	\$100,000	\$10,000,000	
		F-16/A-10 Targeting Pod Modifications	8	\$1,250,000	\$10,000,000	
		A-10 Secure Line-of-Site/Beyond Line-Of-Site Radios	37	\$81,000	\$3,000,000	
<u>×</u>	I	HC/MC-130 Enhanced Situational Awareness Suite	13	\$692,000	\$9,000,000	
		Senior Scout Enhancements	1	\$6,000,000	\$6,000,000	
	6	Large Aircraft Defensive Systems	1	\$4,000,000	\$4,000,000	
X		HH-60 Defensive Armament/Cabin and Situational Awareness upgrade	1	\$5,000,000	\$5,000,000	
		A-10 Defensive Systems Upgrade	20	\$150,000	\$3,000,000	
					\$ 50,000,000	

Total NGREA \$ 499,994,356

FOIA Requested Record #J-10-0005 National Guard Bureau Page 208 of 238



ASSISTANT SECRETARY OF DEFENSE 1500 DEFENSE PENTAGON WASHINGTON, DC 20301-1500

AUG 1 9 2008

RESERVE AFTAIRS

The Honorable Ike Skelton Chairman, Committee on Armed Services U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

In accordance with the Supplemental Appropriations Act, 2008, Public Law 110-252, Title IX: Procurement, National Guard and Reserve Equipment; please find the lists of modernization priorities provided by the Director, Army National Guard and Chief of Army Reserve. The equipment appropriation of \$760,254,000 (includes reduction directed by Section 8003) will be used towards readiness and modernization requirements. Equipment specifically identified by the Committees has been annotated.

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

Sincerely, T.F. NG

T. F. Hall

Enclosures: As stated

cc: Honorable Duncan Hunter Ranking Member





ASSISTANT SECRETARY OF DEFENSE 1500 DEFENSE PENTAGON WASHINGTON, DC 20301-1500

AUG 1 9 2008

AFSERVE AFFAIRS

The Honorable John P. Murtha Chairman, Subcommittee on Defense Committee on Appropriations U.S. House of Representatives Washington, DC 20515

Dear Mr. Chairman:

In accordance with the Supplemental Appropriations Act, 2008, Public Law 110-252, Title IX: Procurement, National Guard and Reserve Equipment; please find the lists of modernization priorities provided by the Director, Army National Guard and Chief of Army Reserve. The equipment appropriation of \$760,254,000 (includes reduction directed by Section 8003) will be used towards readiness and modernization requirements. Equipment specifically identified by the Committees has been annotated.

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

Sincerely,

TE. Hall

T.F. Hall

Enclosures: As stated

cc: Honorable C. W. Bill Young Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 210 of 238



RESERVE APPAIRS

#### ASSISTANT SECRETARY OF DEFENSE 1500 DEFENSE PENTAGON WASHINGTON, DC 20301-1500

AUG 1 9 2008

The Honorable Daniel K. Inouye Chairman, Subcommittee on Defense Committee on Appropriations United States Scnate Washington, DC 20510

Dear Mr. Chairman:

In accordance with the Supplemental Appropriations Act, 2008, Public Law 110-252, Title IX: Procurement, National Guard and Reserve Equipment; please find the lists of modernization priorities provided by the Director, Army National Guard and Chief of Army Reserve. The equipment appropriation of \$760,254,000 (includes reduction directed by Section 8003) will be used towards readiness and modernization requirements. Equipment specifically identified by the Committees has been annotated.

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

Sincerely,

T.F. Hall

T. F. Hall

Enclosures: As stated

cc: Honorable Ted Stevens Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 211 of 238



#### ASSISTANT SECRETARY OF DEFENSE 1500 DEFENSE PENTAGON WASHINGTON, DC 20301-1500

AUG 1 9 2008

RESERVE ATTAINS

The Honorable Carl Levin Chairman, Committee on Armed Services United States Senate Washington, DC 20510

Dear Mr. Chairman:

In accordance with the Supplemental Appropriations Act, 2008, Public Law 110-252, Title IX: Procurement, National Guard and Reserve Equipment; please find the lists of modernization priorities provided by the Director, Army National Guard and Chief of Army Reserve. The equipment appropriation of \$760,254,000 (includes reduction directed by Section 8003) will be used towards readiness and modernization requirements. Equipment specifically identified by the Committees has been annotated.

My intent is that the National Guard and Reserve components will obligate the funding for the listed equipment and notify Congress of any changes, as appropriate.

Sincerely,

TEYLell

T. F. Hall

Enclosures: As stated

cc: Honorable John McCain Ranking Member



FOIA Requested Record #J-10-0005 National Guard Bureau Page 212 of 238